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QUESTION 1

The network engineer is investigating issues and suspects that one of the administrators recently changed the
NetScaler configuration.

Which command could the engineer run to check the logs that will contain such details?
A. nsconmsg -K newnslog -d stats

B. nsconmsg -K newnslog -d stats -d current

C. nsconmsg -K /var/nslog/newnslog -d event

D. nsconmsg -K /var/nslog/newnslog -d consmsg

Correct Answer: C

QUESTION 2

The upgrade script copies the updated NetScaler kernel file to the NetScaler directory. (Choose the correct
option to complete the sentence.)

A. Ivar

B. /flash

C. Insconfig
D. /flash/boot

Correct Answer: B

QUESTION 3

Scenario: A network engineer created an IPv6 virtual server on the NetScaler. The virtual server is using a service
group with two IPv4 servers bound to it. When testing access to the virtual server from a client configured with an IPv6
address, he is unable to connect.

What could be the reason for this issue?

A. The NetScaler is disabled for NAT.

B. IPv6 protocol translation is disabled.

C. An IPv6 address on the NetScaler is not bound to the correct VLAN.

D. The NetScaler does not have an INAT rule to convert IPv4 to IPv6 from the back-end servers.

Correct Answer: B
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QUESTION 4

What are two ways in which the NetScaler TCP buffering feature improves application performance? (Choose two.)
A. Buffers the client request

B. Buffers the server response

C. Forwards the response to the client at the speed of the client network

D. Forwards the request to the server at the speed of the server network

Correct Answer: BC

QUESTION 5

On a NetScaler system, the timeout value will mark any session that has reached the idle timeout for
cleanup. (Choose the correct option to complete the sentence.)

A. Client

B. Server
C. Zombie
D. NATPCB

Correct Answer: C

1Y0-351 PDF Dumps 1Y0-351 Study Guide 1Y0-351 Exam Questions

1Y0-351 PDF Dumps | 1Y0-351 Study Guide | 1Y0-351 Exam Questions 3/3


https://www.passapply.com/1y0-351.html
https://www.passapply.com/1y0-351.html
https://www.passapply.com/1y0-351.html
http://www.tcpdf.org
https://www.passapply.com/1y0-351.html
https://www.passapply.com/1y0-351.html
https://www.passapply.com/1y0-351.html

